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34: 1 [ like my car none the less for its defects ].

35: [ It doesn't follow that you can do ] anything
because you are young.

36: The teacher stared at me [ as if to say that he
knows ] everything.

37: I [ talked my father into buying me a new
bicycle ].

38: His remarks should not [ be made fun of by
anyone for ] whatever reason.

39: Do you have nay [ idea what it would be like to ]
live in space?
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40: Did you every stop to think about [ where the
money that you carry ] around every day comes
from?

41: The old money is taken from banks and brought
[ to places where it is ] destroyed.

42: It is not easy [ for the government to make a
new bill ].

43: It takes a long time, and there are [ many steps
to go through ] before a new bill can be sent to
banks.

44: Then, very special paper is used, papaer [ which
no one but the mint ] can have.

45: After [ the new dies print the new currency onto
the paper ], the bills are cut, stacked, and sent off
to banks.
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